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QUESTION 1

Which action can you use if you want Global Trade Management (GTM) to automatically determine and assign a license
to a Trade Transaction? 

A. Assign License 

B. Assign License Show Options 

C. Determine License 

D. Reevaluate License 

Correct Answer: B 

 

QUESTION 2

Which three statements are true when configuring allocation rules for OTM Freight Payment? (Choose three.) 

A. For a service provider, one can assign one allocation rule based on the planned cost and another based on the
actual cost. 

B. OTM uses the first allocation rule that applies. 

C. The allocation rules in the profile can be sequenced in the allocation rule profile. 

D. One cannot use the same rule in more than one allocation rule profile. 

E. Allocation rules need to be set up before the allocation rule profiles. 

Correct Answer: ABE 

 

QUESTION 3

Identify the object in which Saved query cannot be used. 

A. Finders (Search pages) 

B. Automation Agents 

C. Business Monitors 

D. Reports 

Correct Answer: B 

 

QUESTION 4

Which two statements are true about authority configuration in Global Trade Management (GTM)? (Choose two.) 
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A. Authority configuration involves defining the Authority ID, Name, and Description. 

B. There can be only one authority defined for a domain in GTM. 

C. An authority has to be defined in the PUBLIC domain. 

D. Authorities are regulatory agencies, such as the US Bureau of Industry and Security. 

E. An authority has to be linked to a region by using region configuration. 

Correct Answer: AD 

 

QUESTION 5

When a new Service Provider is created, OTM automatically does which of the following? 

A. OTM assigns the default Calendar defined in the Parameter Set. 

B. OTM associates the Service Provider calendar with the calendar of the CORPORATION ID identified during setup. 

C. OTM sends an email or fax to the Service Provider contact, depending on the contact\\'s preferred contact method. 

D. OTM creates a corresponding LOCATION, with the location Role of "CARRIER". 

Correct Answer: A 
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